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1) RR (g=3) and FCFS are used such that at a decision point,

if the remaining time of the process is > K, then RR(g=3) is used;
else if the remaining time of the process < K, then FCFS is used for that process.

Process CPU Burst Time Arrival Time
[ | Which K is better, 7 or 67

P1 Show and explain briefly.
P2
P3
P4
P5
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2) Show the page faults for LRU and FIFO algorithms on the reference string below. Evaluate the
algorithms for different memory sizes, assuming 3-bins, 4-bins, initially empty. Which case is best?

1,2,5/3,21,4,6,5,4,2,1,2,3,2,6,3,2,1,2,3,6,4,1, 5.

3) A paging system uses 8-byte pages and 6-bits for logical address space.
The physical memory is 1Kbytes, The page table is given below.
Find logical memory addresses for each physical address a, b, d, e.
PAGE is the number of rows in the page table.
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